# Some Properties of a Class of Analytic Functions

# SHUSEN DING\*

Department of Mathematics, The Florida State University, Tallahassee, Florida 32306-3027

#### AND

# YI LING AND GEJUN BAO

Department of Mathematics, Harbin Institute of Technology, Harbin, People's Republic of China

Submitted by H. M. Srivastava

Received February 8, 1994

Let  $\mathcal{A}$  be the class of functions f(z), which are analytic in the unit disc  $U = \{z: |z| < 1\}$ , with f(0) = f'(0) - 1 = 0. In this paper we introduce a new subclass  $Q_{\alpha}(\beta)$  of  $\mathcal{A}$  and study some properties of  $Q_{\alpha}(\beta)$ . Hence we extend the results of MacGregor, Chen, and Chichra. We also get a new univalent criterion and some interesting properties of Hadamard products. © 1995 Academic Press, Inc.

#### 1. Introduction

Let

 $P_{\beta} = \{p(z): p(z) \text{ is analytic in } U \text{ and } p(0) = 1, \text{Re}(p(z)) > \beta, \beta < 1\},$  and define  $\phi(a, c; z)$  by

$$\phi(a,c;z) = \sum_{n=0}^{\infty} \frac{(a)_n}{(c)_n} z^{n+1}, \qquad z \in U, \qquad c \neq 0, -1, -2, ...,$$

and we shall use notation  $\phi(a, c) = \phi(a, c; z)$  for convenience. We define L(a, c) by

$$L(a,c)f = \phi(a,c) * f(z), \qquad f(z) \in \mathcal{A},$$
 (1)

7

0022-247X/95 \$12.00

Copyright © 1995 by Academic Press, Inc. All rights of reproduction in any form reserved. where  $(\lambda)_n = \Gamma(n + \lambda)/\Gamma(\lambda)$ . "\*" denotes the Hadamard product.

The operator L(a, c) is called the Carlson-Shaffer operator and was applied extensively to the theory of generalized hypergeometric functions in [8] and [9] where some very strong results were achieved. It is known in [1] that L(a, c) maps A into itself. If  $a \neq 0, -1, -2, ...$ , then L(a, c) has a continuous inverse L(c, a) and L(c, a) maps A into A injectively. Clearly, L(a, a) is the unit operator and

$$L(a,c) = L(a,b)L(b,c) = L(b,c)L(a,b),$$
  $b, c \neq 0, -1, -2, ...$ 

Also, if c > a > 0, we have

$$L(a,c)f = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \int_0^1 u^{a-2} (1-u)^{c-a-1} f(uz) du.$$
 (2)

If a, b, and c are real numbers other than 0, -1, -2, ..., the hypergeometric series

$$F(a,b,c;z) = 1 + \frac{a \cdot b}{1 \cdot c}z + \cdots + \frac{a \cdot (a+1) \cdot b \cdot (b+1)}{1 \cdot 2 \cdot c \cdot (c+1)}z^2 + \cdots$$

represents an analytic function in U[2, p. 281], and if c > b > 0, we have

$$F(a,c;z) = \frac{\Gamma(c)}{\Gamma(b)\Gamma(c-b)} \int_0^1 t^{b-1} (1-t)^{c-b-1} (1-tz)^{-a} dt.$$
 (3)

Also, in the theory of Gauss hypergeometric functions, it is well-known that

$$F(1, c, c + 1; -1) = c \sum_{n=0}^{\infty} \frac{(-1)^n}{c + n}$$
$$= \frac{1}{2} \left[ \Psi\left(\frac{1}{2}c + \frac{1}{2}\right) - \Psi\left(\frac{1}{2}c\right) \right]$$

in terms of the psi (or digamma) function

$$\Psi(z) = \frac{\Gamma'(z)}{\Gamma(z)}$$
 or  $\log \Gamma(z) = \int_1^z \Psi(\zeta) d\zeta$ .

Now, we introduce the following new family:

$$Q_{\alpha}(\beta) = \left\{ f \in \mathcal{A} : \operatorname{Re} \left[ (1 - \alpha) \frac{f(z)}{z} + \alpha f'(z) \right] > \beta, \alpha \ge 0, \beta < 1 \right\}.$$

It is easy to see that  $Q_{\alpha_1}(\beta) \subset Q_{\alpha_2}(\beta)$  for  $\alpha_1 > \alpha_2 \ge 0$ . Thus, for  $\alpha \ge 1$ ,  $0 \le \beta < 1$ ,  $Q_{\alpha}(\beta) \subset Q_1(\beta) = \{f \in \mathcal{A} : \operatorname{Re}(f'(z)) > \beta, \ 0 \le \beta < 1\}$ , and hence  $Q_{\alpha}(\beta)$  is a univalent class. MacGregor [3] proved that  $Q_0(0)$  was a univalent class in  $|z| < \sqrt{2} - 1$ . Ming-Po Chen [4] obtained the sharp radius of univalency for  $Q_0(\beta)$   $(0 \le \beta < 1)$ . Later, Chichra [5] got the sharp univalent radius for  $Q_{\alpha}(0)$   $(0 < \alpha < 1)$ .

In our present paper, we extend the above results. We also get a new univalent criterion. Finally, we obtain some interesting properties of Hadamard product for  $Q_{\alpha}(\beta)$ .

# 2. Preliminaries

We get the following Lemma 1 from [6] and Lemma 2 from [4].

LEMMA 1. If the function f(z) is analytic in |z| < R and Re(f'(z)) > 0 for |z| < R, then f(z) is univalent in |z| < R.

LEMMA 2. Let the function  $f(z) \in Q_0(0)$ ; then

$$\operatorname{Re}(f'(z)) \ge \frac{1 - 2r - r^2}{(1 + r)^2}$$
 for  $0 \le r < \frac{1}{2}$ , (4)

and

$$\operatorname{Re}(f'(z)) \ge \frac{-r^4}{(1-r^2)^2}$$
 for  $\frac{1}{2} \le r < 1$ , (5)

where r = |z|. The results are sharp.

LEMMA 3. 
$$z[\phi(c, c+1)]' = c\phi(c+1, c+1) - (c-1)\phi(c, c+1)$$
.

Proof. Since

$$\phi(c,c+1) = \sum_{n=0}^{\infty} \frac{(c)_n}{(c+1)_n} z^{n+1} = \sum_{n=0}^{\infty} \frac{c}{n+c} z^{n+1},$$

we have

$$z[\phi(c, c+1)]' = \sum_{n=0}^{\infty} \frac{c}{n+c} (n+1) z^{n+1}$$

$$= c \sum_{n=0}^{\infty} \frac{n+c-(c-1)}{n+c} z^{n+1}$$

$$= c \phi(c+1, c+1) - (c-1) \phi(c, c+1).$$

LEMMA 4. If  $p(z) \in P(\beta)$   $(\beta < 1)$ , then

$$\text{Re}[p(z) - p(uz)] \ge -2(1-\beta)\frac{(1-u)r}{(1+r)(1+ur)}$$

where r = |z|, 0 < u < 1. This result is sharp.

Proof. Note

$$\operatorname{Re}\left(\frac{1}{1-z} - \frac{1}{1-uz}\right) \ge \frac{-(1-u)r}{(1+r)(1+ur)}.$$
 (6)

In fact, let  $z = r \cos \theta + ir \sin \theta$ ,  $\theta \in [0, 2\pi]$ ; then

$$\operatorname{Re}\left(\frac{1}{1-z} - \frac{1}{1-uz}\right) = \operatorname{Re}\left[\frac{1}{1-r\cos\theta - ir\sin\theta} - \frac{1}{1-ur\cos\theta - iur\sin\theta}\right]$$

$$= \frac{1-r\cos\theta}{1-2r\cos\theta + r^2} - \frac{1-ur\cos\theta}{1-2ur\cos\theta + u^2r^2}$$

$$= \frac{(1-u)[r\cos\theta - r^2(1+u) + ur^3\cos\theta]}{(1-2r\cos\theta + r^2)(1-2ur\cos\theta + u^2r^2)}$$

$$\geq \frac{(1-u)[r\cos\pi - r^2(1+u) + ur^3\cos\pi]}{(1-2r\cos\pi + r^2)(1-2ur\cos\pi + u^2r^2)}$$

$$= \frac{-(1-u)r}{(1+r)(1+ur)}.$$

And if  $p(z) \in P_{\beta}$ , by the Herglotz formula

$$p(z) = \int_{|x|=1} \frac{1 + (1 - 2\beta)xz}{1 - xz} d\mu(x), \tag{7}$$

where  $\mu(x)$  is a probability measure on |x| = 1. Thus, by (6) and (7), we have

$$Re[p(z) - p(uz)]$$

$$= Re \left[ \int_{|x|=1} \frac{1 + (1 - 2\beta)xz}{1 - xz} d\mu(x) - \int_{|x|=1} \frac{1 + (1 - 2\beta)xuz}{1 - xuz} d\mu(x) \right]$$

$$= \int_{|x|=1} Re \left[ 2(1 - \beta) \left( \frac{1}{1 - xz} - \frac{1}{1 - xuz} \right) \right] d\mu(x)$$

$$\geq -2(1 - \beta) \frac{(1 - u)r}{(1 + r)(1 + ur)}.$$

Finally, the result is sharp for the function  $p_0(z)$  defined by  $p_0(z) = (1 + (1 - 2\beta)z)/(1 - z)$ .

### 3. MAIN RESULTS

THEOREM 1. Let  $\alpha \geq 0$ ,  $\beta < 1$ . If  $f(z) \in Q_{\alpha}(\beta)$ , then

(i)

$$\operatorname{Re}(f'(z)) \ge \frac{1 + (4\beta - 2)r + (2\beta - 1)r^2}{(1+r)^2}, \qquad 0 \le r < \frac{1}{2}, \tag{8}$$

and

$$\operatorname{Re}(f'(z)) \ge \frac{\beta - 2\beta r^2 + (2\beta - 1)r^4}{(1 - r^2)^2}, \qquad \frac{1}{2} \le r < 1, \tag{9}$$

for  $\alpha = 0, \beta < 1$ ;

(ii)

$$\operatorname{Re}(f'(z)) \ge (2\beta - 1) + 2(1 - \beta)\frac{c}{1 + r} + 2(1 - c)(1 - \beta)F(1, c, c + 1; -r)$$
(10)

for  $\alpha > 0$ ,  $\beta < 1$ . Where  $c = 1/\alpha$ , r = |z|. The results are sharp.

*Proof.* (i) Let  $f(z) \in Q_0(\beta)$ ,  $\beta < 1$ , it is easy to know that  $F(z) = (f(z) - \beta z)/(1 - \beta) \in Q_0(0)$ . By Lemma 2, we see that (8) and (9) are true.

(ii) Let  $f(z) \in Q_{\alpha}(\beta)$ ,  $\alpha > 0$ ,  $\beta < 1$ , and

$$(1-\alpha)\frac{f(z)}{z} + \alpha f'(z) = p(z). \tag{11}$$

We know that  $p(z) \in P_B$ . Using (1) and (11), we get

$$zp(z) = (1 - \alpha)f(z) + \alpha z f'(z)$$
$$= L\left(\frac{1}{\alpha} + 1, \frac{1}{\alpha}\right) f(z),$$

that is,

$$f(z) = L\left(\frac{1}{\alpha}, \frac{1}{\alpha} + 1\right) [zp(z)].$$

Let  $c = 1/\alpha$ : then

$$f(z) = L(c, c+1)[zp(z)]. (12)$$

By Lemma 3, we have

$$zf'(z) = \{z[\phi(c,c+1)]'\} * [zp(z)]$$

$$= cL(c+1,c+1)[zp(z)] - (c-1)L(c,c+1)[zp(z)]$$

$$= czp(z) - (c-1)L(c,c+1)[zp(z)].$$
(13)

If c > 1, from (2), (13), and Lemma 4, we get

$$\operatorname{Re}(f'(z)) = \operatorname{Re}\left[cp(z) - c(c-1)\int_{0}^{1} u^{c-1}p(uz) du\right]$$

$$= \operatorname{Re}[p(z)] + c(c-1)\int_{0}^{1} u^{c-1}\operatorname{Re}[p(z) - p(uz)] du$$

$$\geq \frac{1 - (1 - 2\beta)r}{1 + r} + c(c-1)\int_{0}^{1} u^{c-1}2(1 - \beta)\frac{-(1 - u)r}{(1 + r)(1 + ur)} du$$

$$= \frac{1 - (1 - 2\beta)r}{1 + r} + 2(1 - \beta)c(c-1)\int_{0}^{1} u^{c-1}\left[\frac{1}{1 + r} - \frac{1}{1 + ur}\right] du$$

$$= (2\beta - 1) + 2(1 - \beta)\frac{c}{1 + r} + 2c(1 - c)(1 - \beta)\int_{0}^{1} \frac{u^{c-1}}{1 + ur} du.$$
(14)

If  $0 < c \le 1$ , from (2) and (13), we have

$$\operatorname{Re}(f'(z)) = \operatorname{Re}\left[cp(z) - c(c-1)\int_{0}^{1} u^{c-1}p(uz) du\right]$$

$$= c \operatorname{Re}[p(z)] + c(1-c)\int_{0}^{1} u^{c-1} \operatorname{Re}[p(uz)] du \qquad (15)$$

$$\geq c \frac{1 - (1 - 2\beta)r}{1 + r} + c(1 - c)\int_{0}^{1} u^{c-1} \frac{1 - (1 - 2\beta)ur}{1 + ur} du$$

$$= (2\beta - 1) + 2(1 - \beta)\frac{c}{1 + r} + 2c(1 - c)(1 - \beta)\int_{0}^{1} \frac{u^{c-1}}{1 + ur} du.$$

By using (3), from (14) and (15), we deduce (10). That the result is sharp follows from

$$f_0(z) = L\left(\frac{1}{\alpha}, \frac{1}{\alpha} + 1\right) \frac{z + (1 - 2\beta)z^2}{1 - z} \in Q_\alpha(\beta).$$

This completes the proof of our theorem.

From [4] we know that there exists  $f(z) \in Q_0(\beta)$  ( $\beta < 1$ ) such that f(z) is not univalent. But in the following theorem, we shall prove that  $f(z) \in Q_{\alpha}(\beta)$  is univalent for  $0 < \alpha < 1$  and  $\beta > \beta_0$ , where  $0 < \beta_0 < 1$ . And we shall also prove that  $f(z) \in Q_{\alpha}(\beta)$  is univalent for the case that  $\alpha > 1$  and  $\beta$  is larger than some negative number.

THEOREM 2. If  $\alpha > 0$  and  $\beta_0 < \beta < 1$ , then  $f(z) \in Q_{\alpha}(\beta)$  is univalent, where

$$\beta_0 = 1 - \frac{1}{2 - c - 2(1 - c)F(1, c, c + 1; -1)}$$
 for  $c = \frac{1}{\alpha}$ , (16)

and the constant  $\beta_0$  cannot be replaced by any smaller one.

*Proof.* We note that the right sides in both (14) and (15) are decreasing with respect to r. So if  $f(z) \in Q_{\alpha}(\beta)$  and  $\alpha > 0$ ,  $\beta < 1$ , by (9) we have

$$\operatorname{Re}(f'(z)) \ge (2\beta - 1) + (1 - \beta)c + 2(1 - c)(1 - \beta)F(1, c, c + 1; -1)$$

$$= 1 - (1 - \beta)[2 - c - 2(1 - c)F(1, c, c + 1; -1)], \tag{17}$$

where  $c = 1/\alpha$ . But

$$F(1, c, c + 1; -1) = c \int_0^1 \frac{u^{c-1}}{1+u} du$$
$$= \frac{1}{2} + \int_0^1 \frac{u^c}{(1+u)^2} du.$$

From

$$0 < \int_0^1 \frac{u^c}{(1+u)^2} du < \int_0^1 \frac{1}{(1+u)^2} du = \frac{1}{2},$$

we get

$$\frac{1}{2} < F(1, c, c+1; -1) < 1,$$

so

$$2 - c - 2(1 - c)F(1, c, c + 1; -1) > 0.$$
(18)

Thus, by (17) we have

$$Re(f'(z)) > 1 - (1 - \beta_0)[2 - c - 2(1 - c)F(1, c, c + 1; -1)] = 0$$

for  $\beta > \beta_0$ . By Lemma 1, we have proved that  $f(z) \in Q_\alpha(\beta)$  is univalent for  $\alpha > 0$  and  $\beta > \beta_0$ . Note  $\frac{1}{2} < F(1, c, c + 1; -1) < 1$ ; it is easy to see that  $f(z) \in Q_\alpha(\beta)$  is univalent in the case either  $0 < \alpha < 1$  and  $0 < \beta < 1$  or  $\alpha \ge 1$  and  $\beta \le 0$ .

In order to show that the result is sharp, we consider the following function

$$f_0(z) = L(c, c+1) \left[ \frac{z + (1-2\beta)z^2}{1-z} \right], \quad \alpha > 0, \beta < 1, c = \frac{!}{\alpha}.$$

It is easy to see that  $f_0(z) \in Q_{\alpha}(\beta)$ . By (13), we get

$$zf_0'(z) = \frac{z + (1 - 2\beta)z^2}{1 - z} - (c - 1)L(c, c + 1)\left[\frac{z + (1 - 2\beta)z^2}{1 - z}\right],$$

so

$$f_0'(-1) = 1 - (1 - \beta)[2 - c - 2(1 - c)F(1, c, c + 1; -1)].$$

If  $\beta < \beta_0$ , by (18) we have

$$f_0'(-1) < 1 - (1 - \beta_0)[2 - c - 2(1 - c)F(1, c, c + 1; -1)] = 0,$$

and  $f_0'(0) = 1$ . So there exists a point  $z = -r_0$ , such that  $f'(-r_0) = 0$ . Then  $f_0(z)$  is not univalent when  $\beta < \beta_0$  as required.

COROLLARY 1. If  $f(z) \in A$  and

Re 
$$\left[ \frac{f(z)}{z} + f'(z) \right] > 2 \left[ 1 - \frac{1}{4(1 - \ln 2)} \right] \approx 0.372,$$

then f(z) is univalent. The result is sharp.

COROLLARY 2. If  $f(z) \in A$  and

Re 
$$\left[2f'(z) - \frac{f(z)}{z}\right] > 1 - \frac{2}{3 - 2F(1, \frac{1}{2}, \frac{3}{2}, -1)}$$

then f(z) is univalent. The result is sharp.

By using Lemma 1 and Theorem 1, we have the following two theorems.

THEOREM 3. If  $f(z) \in Q_0(\beta)$  and  $\beta < 0$ , then f(z) is univalent in  $|z| < (\sqrt{4\beta^2 - 6\beta + 2} + 2\beta - 1)/(1 - 2\beta)$ . The result is sharp.

THEOREM 4. Let  $\alpha > 0$  and  $\beta < \beta_0$ . If  $f(z) \in Q_{\alpha}(\beta)$ , then f(z) is univalent in  $|z| < r_0$ . Here  $\beta_0$  is defined by (16) and  $r_0$  is the smallest positive root of the equation

$$2\beta - 1 + 2(1 - \beta)\frac{c}{1 + r} + 2(1 - c)(1 - \beta)F(1, c, c + 1; -r) = 0,$$

where  $c = 1/\alpha$ . The result is sharp.

*Remark.* Taking  $\beta = 0$ ,  $0 < \alpha < 1$  in Theorem 4, we have the result of [5]. From [7], we have the following lemma.

LEMMA 5. If  $p_1(z) \in P_{\alpha}$ ,  $p_2(z) \in P_{\beta}$ ,  $\alpha$ ,  $\beta < 1$ , then  $p_1 * p_2(z) \in P_t$ , where  $t = 1 - 2(1 - \alpha)(1 - \beta)$ . The result is sharp.

Theorem 5. Let  $\alpha > 0$ ,  $\beta_1$ ,  $\beta_2 < 1$ ; if  $f(z) \in Q_{\alpha}(\beta_1)$ ,  $g(z) \in Q_{\alpha}(\beta_2)$ , then  $f * g(z) \in Q_{\alpha}(t)$ , where

$$t = 1 - 4(1 - \beta_1)(1 - \beta_2) + 4(1 - \beta_1)(1 - \beta_2)F(1, c, c + 1; -1)$$
 for  $c = \frac{1}{\alpha}$ 

The result is sharp.

*Proof.* Let  $f(z) \in Q_{\alpha}(\beta_1)$ ,  $g(z) \in Q_{\alpha}(\beta_2)$ ; by (12) we have

$$f(z) = L(c, c+1)[zp_1(z)],$$
  $g(z) = L(c, c+1)[zp_2(z)],$ 

where  $c = 1/\alpha$ ,  $p_1(z) \in P_{\beta_1}$ ,  $p_2(z) \in P_{\beta_2}$ . Then, using Lemma 5 we obtain

$$f(z) * g(z) = L(c, c + 1)[zp_1(z)] * L(c, c + 1)[zp_2(z)]$$

$$= L(c, c + 1)[L(c, c + 1)(zp_1(z) * zp_2(z))]$$

$$= L(c, c + 1)[L(c, c + 1)(z(p_1(z) * p_2(z)))]$$

$$= L(c, c + 1)[L(c, c + 1)(zp_\lambda(z))],$$
(19)

where  $\lambda = 1 - 2(1 - \beta_1)(1 - \beta_2)$ ,  $p_{\lambda}(z) = p_1(z) * p_2(z)$ . Note that

$$\operatorname{Re}\left[\frac{L(c,c+1)(zp_{\lambda}(z))}{z}\right] = \operatorname{Re}\left[c\int_{0}^{1}u^{c-1}p_{\lambda}(uz)\,du\right]$$

$$= c\int_{0}^{1}u^{c-1}\operatorname{Re}[p_{\lambda}(uz)]\,du$$

$$> c\int_{0}^{1}u^{c-1}\frac{1-(1-2\lambda)u}{1+u}\,du$$

$$= 2\lambda - 1 + 2(1-\lambda)F(1,c,c+1;-1) \quad (20)$$

$$= 1 - 4(1-\beta_{1})(1-\beta_{2})$$

$$+ 4(1-\beta_{1})(1-\beta_{2})F(1,c,c+1;-1)$$

$$= t$$

From (19) and (20), we have

$$f * g(z) = L(c, c+1)[zp_t(z)],$$

where  $p_t(z) = L(c, c + 1)(zp_{\lambda}(z))/z$  and  $\text{Re}(p_t(z)) > t$ . So we know that  $f * g(z) \in Q_a(t)$ .

That the result is sharp is obtained by  $f(z) = L(c, c + 1)[z + (1 - 2\beta_1)z^2)/(1 - z)$  and  $g(z) = L(c, c + 1)(z + (1 - 2\beta_2)z^2)/(1 - z)$ . The proof is completed.

COROLLARY 3. Let  $\alpha > 0$  and  $\beta < 1$ . If  $f(z) \in Q_{\alpha}(\beta)$ ,  $g(z) \in Q_{\alpha}(\beta)$ , and  $\beta \geq \beta_0$ , where

$$\beta_0 = 1 - \frac{1}{4[1 - F(1, c, c + 1; -1)]}$$
 for  $c = \frac{1}{\alpha}$ ,

then  $f * g(z) \in Q_{\alpha}(\beta)$ , that is,  $Q_{\alpha}(\beta)$  is closed under the Hadamard product when  $\beta > \beta_0$ .

Proof. By Theorem 5 and

$$1 - 4(1 - \beta)^2 + 4(1 - \beta)^2 F(1, c, c + 1; -1) \ge \beta$$
 if and only if  $\beta \ge \beta_0$ ,

we get the required result immediately.

# ACKNOWLEDGMENT

We thank Professor H. M. Srivastava for his precious and thoughtful suggestions on this paper.

# REFERENCES

- B. C. CARLSON AND D. B. SHAFFER, Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal. 15 (1984), 737-745.
- E. T. WHITTAKER AND G. N. WATSON, "A Course of Modern Analysis," 4th ed. (reprinted), Cambridge Univ. Press, Cambridge, 1927.
- T. H. MACGREGOR, Functions whose derivative has a positive real part, Trans. Amer. Math. Soc. 104 (1962), 532-537.
- 4. MING-PO CHEN, On the regular functions satisfying  $Re(f(z)/z) > \alpha$ , Bull. Inst. Math. Acad. Sinica 3 (1975), 65–70.
- 5. P. N. CHICHRA, New subclass of the class of close-to-convex functions, *Proc. Amer. Math. Soc.* 62, No. 1 (1977), 37-43.
- K. NOSHIRO, On the univalency of certain analytic functions, J. Fac. Sci. Hokkaida Imp. Univ. 2 (1934), 89-101.
- J. STANKIEWICZ AND Z. STANKIEWICZ, Some applications of the Hadamard convolution in the theory of functions, Ann. Univ. Mariae Curie-Sklodowska Sect. A 40 (1986), 251–265.
- H. M. SRIVASTAVA AND SHIGEYOSHI OWA, Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators, and certain subclasses of analytic functions, Nagoya Math. J. 106 (1987), 1-28.
- 9. SHIGEYOSHI OWA AND H. M. SRIVASTAVA, Univalent and starlike generalized hypergeometric functions, Canad. J. Math. 39 (1987), 1057-1077.